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GENERAL INSTRUCTIONS

1. Read the instructions given on the | 1, gwl &% S fo@d ¥ @ g@-qRaer 3k
Question Booklet and OMR Sheet before i Qﬁzmﬁﬁgqfé | ot it

starting the answers. All the entries .. .
should be filled by blue or black ball < T e A Wy U W

point pen.

2. T-gfER H 100 w99 ¥ iR it v sifemd
2. The Question Booklet contains £

100 questions and all questions are

compulsory.
3. U U 2 IF A gl PR TRREH HhT

3. Each question is of 2 marks. There is no (negativé ' marking) e 2N
negative marking.

4. Candidates must ensure that the Question 4. ey F A o 3 S 0-g il
Booklet issued to them has all the T & 3 et we sifera €1 gfol we-gfeem
questions. Defective Question Booklet can 10 fime =i 1afy H SR S Uehdl #1

be got changed within 10 minutes.
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11.

12,

In case of any discrepancy between
English and Hindi versions of a question,
English version will be taken as correct,

wherever there are both versions.

Select and darken the circle corresponding
to the answer {(A) or (B) or (C) or (D)] in
OMR sheet.

In case more than one circles are
darkened in a question, it will not be

evaluated.

Do not make any stray marks on OMR
sheet and do not fold it.

Any candidate found removing pages from
the Question Booklet may be disqualified

and prosecuted.

Use of unfair means will disqualify the

candidate from the examination.

Cell phone, calculator or any such devices

are not allowed in the Examination Hall.

No candidate is allowed to leave the seat
before handing over the original OMR
sheet to the invigilator. Candidate can
take Question Booklet and Carbon copy of

OMR sheet.
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International Financial Reporting Standards (IFRS)

lay emphasis on :
(A)  Fair Value
(B)  Realisable Value
(C) Historical Value

(D)  Allof these

In which method of depreciation, the value of the
depreciable asset in books can never theoretically
be zero?

(A)  StraightLine Method
(B) Production Hours Method
(©)  Diminishing Value Method

(D) Reverse Capitalisation Method

The primary issue in accounting for revenue for

business entities is :

(A)  Nature of revenue
(B)  Source of Revenue
(C)  Lossof revenue

(D)  When torecognize revenue

A lability is an

arising from

obligation of an entity
events, the settlement of
which is expected to result in an from
the entity of resources embodying economic benefits
or service potential.

(A)  Past, current, inflow
(B)  Present, past, outflow
(©)  Past, past, outflow . :

(D)  Current, past, outflow
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Which of the following statements is true in the
context of Generally Accepted According to
Principles while comparing the principle vs.
Rule-based approaches to accounting ?

- (A) The problem with principles-based
guidelines is that lack of guidelines can
produce unreliable and inconsistent
information that makes it difficult to compare
one organization to another.

(B)  Rules-based approach method of accounting
helps in unambiguous decision making,.

(©  Although some rules are unavoidable, the
guidelines or rules set are not meant to be
used for very situation.

(D}  Allof these

If the recoverable amount of an asset is less than it's
carrying value the difference is generally termed as :

(A)  Fair Value Disposal
(B) Revenue Loss
(©  Impairment Loss

(®)  Accumulated Depreciation Reversal

According to a well-accepted accounting practice,
the intangible assets are recognized in books, if and
only if :

(a) Itis probable that the future economic benefits
that are attributable to the asset will flow to
the entity.

(b)  Thecost of the asset can be measured reliably.

(©0  The intangible asset is income producing

asset.
(4) Only (o)
(B)  Both (a)and (b)
© Only(®)

(D) Both(b)and (c)
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8. The delisting of shares in India should not be
pursuant to a of equity shares by the
company or pursuant to a preferential allotment
made by the company.

(A) buyback

(B) greenmail

© split

(D) consolidation

9. Amalgamation in the form of merger under the
Income Tax Act, 1961 entails advantages of tax
neutrality and exemption from capital gains tax in
the hands of the amalgamating company and also
in the hands of the shareholders of the
amalgamating company. This statement is :

(A) True

(B) False

{(©) MaybeTrue
(D) CannotSay

10. A firm Y which has a value of ¥ 7.25 crore merged
with firm X whose value before merger was ¥ 15
crore. Costsavings from merger results in present
value of ¥ 2.35 crore. If firm X offers ¥ 8 crores as
cash compensation to firm Y, then the NPV of the
merger from the X view point will be:

(A) T 0.75crores
(B) T 1.60 crores
(© T 10.10 crores
(D) T 10.35 crores

11. A company has present sales of 3500 units at price
of T 100 each operating at an activity level of 70%.
The variable cost is ¥ 50 each and the fixed cost per
unitis T30 at the present activity level. If the output
is increased to 80%, the profit would increase by

from the present level.
(A  23.42%
(B) 14.28%
© 10%
D) 3571%
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12.

13.

14.

15.

16.

The cost of Interest on internally generated funds
shall be classified as :

(A) Differential cost
(B) Imputed cost
(©) Jointcost

(D)  Common cost

Which of the following methods is used to account
for the under-absorption and over-absorption of
overheads ?

(A) Carrying forward of overheads

(B)  Useof supplementary rates

(©  Writing-off to costing profit and loss account
(D)  Allof these

A budget that remains unchanged regardless of the
actual level of activity or production is known as:

(A)  Functional budget
(B)  Flexible budget
(O  Fixed budget

(D) Cashbudget

A method of segregating semi-variable costs into
fixed

include:

and wvariable costs does not

(A) Leastsquares method

(B) High and low points method

(& Standard cost method

(D) Comparison by level of activity method

The system of Accounting which blends financial
and costing transactions in one self-contained
ledgeris:

(A) Integrated System
(B) EfficientSystem

(©)  Operating System
(D)  None of the above
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17. Considering various methods of inventory
management, which of the following statements is
false ?

(A) FIFO method will usually result in fairly
current costs being included in the cost of
goods sold.

(B) A company can manipulate its net earnings
to an extent if it uses the LIFO method.

(O A company can manipulate its earnings to
an extent if it uses the specific identification
method.

(D) Inapplying the lower of cost or market value
principle, cost must still be determined by
using FIFO, LIFO, specific identification or
some other average method.

18. Whatis meantby a“spurious” relationship between
two variables ?

(A)  One thatis so ridiculously illogical it cannot
possibly be true

{B)  An apparent relationship that is so curious
it demands further attention

(C}  Arelationship thatappears to be true because
each variable is related to a third one

(D)  One that produces a perfect negative
correlation on a scatter diagram

19.  If there were a perfect positive correlation between
two interval/ratio variables, the Pearson’s r test
would give a correlation coefficient of :

A —0.328

® +1

(©  +0328

© -1
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20.

21.

22,

23.

24.

The term “data processing error’ refers to :

(A)  Activities or events related to the sampling
process, e.g. non-response

(B)  Faulty techniques of coding and managing
data

(© Problems with the implementation of the
research process

(D) The unavoidable discrepancy between the
sample and the population

The standard error is a statistical measure of :

(A) Thenormal distribution of scores around the

sample mean

(B)  The extent to which a sample mean is likely
to differ from the population mean

(© The clustering of scores at each end of a

survey scale

(D) The degree to which a sample has been
accurately stratified

Setting the p level at 0.01 increases the chances of
making :

{A) Typelerror

(B) Typellerror

(C) Typelllerror

(D) Allof theabove

What is the name of the test that is used to assess
the relationship between two ordinal variables ?

(A) Spearman’srho
(B) Phi

(© Cramer'sV

(D) Chisquare

The tax that an employer deducts from employees’
salaries and pays directly to the government is called

as:

(A)  Self-Assessment Tax
(B) Withholding Tax

(©  Referral Tax

(D)  Retrospective Tax
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+ 25,

Presumptive taxation involves :

(A)  The use of indirect methods to calculate tax
liability, which differ from the usual rules
based on the taxpayer’s accounts

(B)  Transfer of tax liability from state to centre

(C)  Calculation of Short-Term Capital Gain

(D) Noneof these

26. Mr X. bought equity shares on 15! Dec, 2016 for

Z 10, 000. FMV of the shares was ¥ 12,000 as on

315t Jan, 18. He sold the shares on 10t May, 2018

for ¥ 15,000. What will be the long-term capital

gain/loss according to grandfathering clause ?

(A) 4000

(B) T 3000

© ¥ 5000

D) T 6000

27.  Income tax is the mostimportant source of revenue
inindia. Income taxis:

(A) Directand proportional

{B) Indirectand proportional

() Directand progressive

(D) Indirect and progressive

28.  When the auditor is an employee of the company
being audited, the audit is termed as

audit.

(A) External

(B) Internal

(© Compliance

(D)  Efficiency

29. Voucherrelatesto:

(A)  CashRevenues

(B) Cash payments

() Cash Accruals

(D) None of these
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30.

31.

32,

33.

34.

In a typical cash flow statement, the cash flows are
segregated into the following group of activities :

(A)  Investment, Operating and Non-operating

(B)  Financing, Operating and Deferring
(©  Accruing, Financing and Investing
(D)  Investment, Financing and Operating

The types of audits prescribed under the Companies
Act, 2013 does not include :

(4) Concurrent Audit
(B)  Statutory Audit
(©)  Secretarial Audit
(D)  All of these

Report of which audit is annexed to the Board’s
Report under the Companies Act, 2013 ?

(A) Internal Compliance Audit

(B) TaxAudit
(©  Secretarial Audit
D) CAGAudit

The objective of an auditis to:

(A)  expressanopinion about financial accuracy
of the statements being prepared

(B)  produce a meaningful document for the
benefit of the stockholders

(©  certify that the financial report is prepared in
accordance with a financial reporting
framework

(D) express an opinion about whether the

financial report is prepared in all material
respects in accordance with a financial

reporting framework

According to Walter, firm should pay 100%
dividend if :

A r>K
® 1=K
© r<K
(D)  None of these
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35. The rate of discount at which NPV of a Project
becomes Zero is also known as :
(A)  Average Rate of Return
(B) InternalRate of Return
()  Alternative Rate of Return
(D)  None of theabove
36, Capital Structure represents :
(A) Ratio between different forms of capital
(B)  All liabilities
©  Allassets
(D)  Assets and liabilities
37.  Factoring is a method of raising
(A) Long term finance
(B) Medium term finance
(©)  Shortterm finance
(D} Alloftheabove
38.  Cost of Capital refers to
{A) Flotation cost
(B) Dividend
(©  Minimum Required Rate of Return
(DY  None of the above
39. The working capital ratiois:
(A) Working capital/Sales
(B)  Working capital/Total Assets
(C©)  Current Assets/Current Liabilities
(D)  Current Assets/Sales
40. Which of the following are Sources of working
capital ?
(A) Loansand advances from commercial banks
(By Tradecredit
(©  Indigenous banker
(D)  Allof the above
101-ABST -II
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41.

42

43.

45.

‘Tudicious use of leverage’ is suggested by :

(A) NetIncome Approach

(B) NetOperating Income Approach
(©  Traditional Approach

(D)  Aliof the above

CAS 21 stands for :

(A) Capacity Determination

(B) JointCost

(©  Direct Expenses

(D)  None of the above

Standard quantity of material for one unit of output
is 10kgs. @ 8 per kg. Actual output during a given

period is 800 units. The standards quantity of raw

material :

(A) 8,000 kgs

(B) 6,400 kgs

(© 64,000 kgs
(D) None of these

The technique of differential costis adopted when :

(&)
(B)
©
D)

Selling and Distribution overhead are absorbed on

To ascertain P/ V ratio
To ascertain marginal cost
To ascertain cost per unit

To make choice between two or more
alternative courses of action

the basis of :

(A) Rate per unit

(B) Percentages on works cost

(C) Percentage on selling price of each unit
(D) Any of these
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fasry wd Taauu 2foRee ! forg 2R ) sEsiisa

foRan ST § 2

(a) W=

(B) M ! AN W Hiawr

© TIE THE S fohl 7T T AfawE
©O) FTEIAEE @



- 46,  Costplus contractis usually entered into those cases
where:
(Ay  Costcanbe easily estimated
(B)  Costof certified and uncertified work
(©)  Costof certified work, cost of uncertified work
and amount of profit transferred to Profitand
Loss Accounts
(D) None of the above
47.  The most suitable cost system where the products
differ in type of material and work performed is:
(A)  Operating Costing
(B) Jobcosting
(©  Processcosting
(D)  Allof these
48,  Operating costing is applicable to :
(A) Hospitals
B) Cinemas
(©  Transport undertaking
(D) Allofthe above
49. Difference between the costs of two alternative is
known as the:
(A)  Variable cost
(B)y  Opportunity cost
(© Marginal cost
(D) Differential cost
50. Variable cost:
(A)  Remains fixed in total
(B) Remains fixed per unit
(C) Varies per unit
(D) Neither increases nor decreases
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© Wi e
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© ol 3T
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51. Match the following items in List - I with most

suitable options in List - II :
List-1 List-II

(@)  Fisher @ Inverse
probability

(b)  Karl Pearson (i) Normal
Distribution

{0 ThomasBaye’s (i) Correlation
Coefficient

(d) Karl Gauss (iv) Index
Numbers

Codes:

@ ®. © @
@) () (@@ @ @
® (v) (@) @ ()
© (v @ @@ @
O Gv) G @) (i)

52,  Thelaw of statistics, which says “Moderately large
number of items chosen at random from a large
group possess the characteristics of the large group’,
isreferred to as:

(A) TheCentral Limit Theorem

(B) TheLaw of Statistical Regularity

(©  TheLaw of Inertia of Large Numbers
(D) None of the above

53. A distribution, where the value of arithmetic mean
is maximum as compared to median and mode, is :

(A) Normal distribution

(B)  Positively-skewed distribution
(©)  Negatively-skewed distribution
(D) None of these

54. The mostappropriate average to be used to compute
the average rate of growth in population is :

(A)  Arithmetic mean
(B) Median
(©  Geometric mean

(D) Harmonic mean
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" 55.

“The life expectancy of people in Kerala is more than
that of Tamil Nadu.” This statement is an example
of:
(A}  Descriptive Hypothesis
(B)  Causal Hypothesis
(©) Correlational Hypothesis
(D)  None of the above
56.  If there are 8 possible classes under consideration
for a goodness of-fit, the number of degrees of
freedom will be:
“» 8
® 7
© 6
(D) Cannot be determined from the given
information
57.  Ydentify from the following, the test statistic for which
the value of numerator should always be greater
than that of denominator :
(A) ’'Chi-square’
(B) Fvalue
© 7 value
D) ‘f value
58.  Which of the following tests can be based on the
normal distribution ?
(A)  Difference between independent means
(B)  Difference between dependent means
(O  Difference between proportions
(@ Alioftheabove
59.  From the following, identify one situation where '
test cannot be used ?
(A)  Tocompare more than two population means.
(B} To test the hypothesis about a single
population variance.
(©  Totestthe hypothesis about two-population
variance.
(D)  Tostudy about randomized block design.
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60.

6l.

62,

63.

64.

Which statistical test should be applied to test the
effectiveness of ‘special coaching’ on the marks
scored by the students ?

(A) Paired 't test
{B) ‘Chi-square’ test
O 2 test

(D) “Ftest

Classification of respondents only on the basis of
gender is an application of :

(4) Ordinal scale
(B}  Nominal scale
(© Intervalscale
(D) Ratio scale

Which of the following is not a restricted random

sampling technique ?

(A)  Stratified sampling

(B) Simplerandom sampling
(©  Systematic sampling

(DY  Multistage sampling

Which one of the following options deals with the
process of making estimates, predictions and

decisions ?

(A)  Descriptive statistics
(B)  Inferential statistics
(C©)  Probability theory
(®)  None of the above

A hypothesis test is being performed for a process
in which a Type-I error will be very costly, but a
Type-1I error will be relatively inexpensive and
unimportant. Which of the following would be the
best choice for alpha (o) in this test ?

(A) 010
B 005
© 001
®) 0.50
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B R ITaiehl W o S st gvreeiern =
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RIS RETSI8- '

(A)  giwa 't ghEm

B ‘FE-TEER T

© 'z Hee

©) F ol

TR H1 haet {6 F YR T Il T
STTER #:

(A) T WIS

(B) iR ey

© AU Y

(D) ST H9shH

et 3 9 SM- 9 uivEiha agfes g assie
T B2

(8) AR T

(B) W AgeE® T

© A AHAER

(D) o F TR

HAAE, Wiersamnt we o o & fad frefatag §
Y =i a1 foshey deiy wEar g ?

(A)  TereRoTeR: wifere

®) 3T wifer

© it fag

©) WA [ B A

e U wiwwen ¥ ford wreenes vl fF S w
ooy Tru-1 Ffe sgq deht 2nfl, 9oy erg-u A
orToes: Y § il ud HeweatE e 1 v fraf #
el H ST (o) F ol g e frefafas
Y 1 B ?

(4) 0.10
®) 0.05
© 001
@) 050




65,

66.

67.

If the dependent variable increases as the
independent variable increases in an estimating
equation, the coefficient of correlation will be in the
range:

&)
(B)
©
©)

Oto(—)1
Oto(—)0
Oto(—)0.05

Oto1l

Assertion (A): When there is an evidence of a
linear relationship betweentwo
variables, it may not always
mean an independent -
dependent relationship

between the two variables.

The
between the two variables may

Reason (R): causal relationship

not imply a reasonable
theoretical

between the two.

relationship

Choose the right answer from the following
statements :

Codes:

(A) Both(A)and (R) are true and (R) is the correct

explanation.

(BY  Both (A) and (R) are true, but (R) is not the

correct explanation.

©
D}

(A) is true, but (R} is false.

(A) is false, but (R) is true.

The highest Administrative Authority for Income
Tax in India is :

(A)
®)
©
[©)

Finance Minister
President of India
CB.D.T.

Commissioner of Income Tax
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(A)  (A) 3R (R) 3 ¥ €, 3l (R) W&l e 2
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i3
©  (A)TAE, TG (R) AEA
D) (A) 38T € T (R) ¥4 )
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NEREEEE

B)  HRE % Tl

© TIEF FHZFAS
D) ST FUFR
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68. Rate of Income Tax is fixed under :
{A) IncomeTaxAct.
(B) TheFinance Act.
(©  AnOrdinance
(D) Notificationof C.B.D.T.
69. Theterm previous year means:
(A) The Financial year
(B) Calendaryear
(C©) Accounting year
(D)  Financial year before the Assessment year
70.  Exemption limit for the Assessment year 2020-21
for aSuper Senior Citizen resident of India is :
(4) 250,000
(B) ¥ 3,00,000
(© T 4,00,000
(D) ¥ 5,00,000
71.  Sum of various heads of Income is called :
(A) TotalIncome
(B)  Gross Total Income
(©  Aggregate Income
(D) TaxableIncome
72.  Salary payable by the Government of India to an
Indian Citizen for services rendered out side India :
(A)  is Taxable in India
(B) isnottaxable in India
(©) is included in the total income for Rate
Purpose only
(D) noneof these
73.  Tax-free income from the following is :
(A)  Agricultural Income
(B) Toreign Allowance
(©  Dividend from the Indian company
(D)  Allof these
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74.  OnRetirement of Governmentemployee exemption
is available on:
(A) Commuted Value of Pension
(B) Amountof Gratuity
(©) Encashmentof Earned Leaves
(D) Allofthese
75.  Which house property income is not charged to tax ?
(A) FarmHouse
(BY  APlace of an Ex-Ruler
(O  Business Building
(D) Allof these
76,  Which of the following would attract capital gains
tax ?
(A} Special Bearer Bond, 1991
B) 6-;—% Gold Bond, 1977
(© StockinTrade
(D) Noneof these
77.  Under which head the pension is taxable ?
(A) Salary
(B) Income from other sources
(© Capital Gains
(D) None of these
78.  Salary of M.P. will be Taxable under the head :
(A) Salary
(B)  Profit from Business and Profession
(©  Capital Gains
(D)  Income from the other sources
79.  Sec.80(c)applies on:
(A) Individual and Hindu undivided family
(B) Individual and Partnership firm
(C) Individual only
(D) Individual and company
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80. Health and Education cess is calculated on :

(A) TotalIncome

(B) TaxesonTotal Income

(©  Taxable Income

(D) Allof these

81,  Appeal before commissioner (Appeals) shall be filed
within :

(A)  30days of the service of the order

(B)  60days of the service of the order

(C)  90days of the service of the order

(D) 120 days of the service of the order

82. The deduction allowable in respect of family
pension taxable under “Income from other sources”
is:

(A) 333 % of the pension

(B)  30% of the pension or ¥ 15,000 whichever is
less

(@) 33% % of the pension or ¥ 15,000 whichever
is less

(Dy Nil

83.  Loss of card game can be set-off from :

(A)  Income of card game

(B)  Lottery income

(©  Income from other sources

(D) None of these

84.  Which of the following statements is not true ?

(4) Managementfraud is more difficult to detect
than employee fraud.

(B) Internmal control system reduces the
possibility of occurrence of employee fraud
and management fraud.

(C)  Theauditor’s responsibility for detection and
prevention of errors and frauds is
similar.

(D)  Allstatements are correct.
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85.

86.

87.

88.

89.

90.

Internal Audit is undertaken :
(A)
)

©
©)

By Independent Auditor.
By statutorily appointed Auditor.
By a person appointed by the Management.

By a Government Auditor.

The scope of Internal Audit is decided by the

(A)  Shareholders
(B) Management
©  Government

D) Law

Audit of banks is an example of

(A) Statutory Audit

(B)  Balance-sheet Audit
(G Concurrent Audit
(D) Alloftheabove

Concurrent Audit is a part of

(A)  Internal check system
(B) Continuous Audit

(© Internal Auditsystem
(D) None of these

Which of the following is based on the principle of
division of Labour ?

(A}  Internal Control
(B) Internal Checking
() Internal Audit

(D)  None of these

Internal control includes :

(A}  Only Econoinic control

(B)  Economic and Nen-economic control

{© Economic, Non-economic and
Administrative control

(D}  None of these
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91.  Under vouching checking is done of :
(A)  Books of Original Entry
(B)  Final Books of Accounts
(O  Balance-sheet
(D)  Allof these
92.  Average Profit method is concerned with :
(A)  The valuation of stock
(B) The valuation of Goodwill
(C) The valﬁation of shares
(D)  None of these
93. Anexpenditure is capital expenditure because :
(A) Theamountis paid in Lump-sum
(B) Theamountis large
(© ltisrelated to the benefit of current year
(D)  Itisrelated to the benefit of future
94. Appointment of Company Auditor is made:
{A) By Directors
(B) Bysharcholders
(©) By Central Government
(D) By above three
95, Before commencing the Audit work, a company
Auditor should :
(A) Examine the Appointment
(B)  Study the Nature of the Institution
{©) Examine the statutory Records
(D) Alltheabove
96. Verificaﬁon refersto:
(A) Examining the physical existence and
valuation of Assets,
(B)  Examining the Journal and Ledger
(C) Examining of vouchers related to assets
(D) None of the above
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97,  Goods sold on the basis of “sales or return” should : | 97. ‘fash! a1 ST}’ % STUR YT =1 T 91

. (A) Beinciuded in the stock (A wiF o et fepan S =i
(B)  Notbeincluded in the stock (B wie H miva T foran s wrfe |
(©) Notbe checked by Auditor (©  SiFegur & BN SirE & S e
(D) None of the above D) I H A &

98.  Which of the following is called the charter of the | 98, 1 & & Fvrft Hl sz fRd w2 €2

company ?
(A) Memorandum of Association (a)  ImE | frEm
(B)  Article of Association @) ume st
(C) Prospectus ©  wfEERw
(D) None of these (D) T 9 ®E T/
99.  The Liabilities for Assistants Negligence is : 99. TSI HI AR FI (A TN E :

(A)  Auditor’s Liability (A) 30w A
(B) Assistant’s Liability (B) I Wl I
(© Employer's Liability © Trism = ofaa

. (D)  Allof these O A

100. When the chartered Accountant Act of India was | 100. ¥Nd H 98 @3%? sfyufraq w9 g9 797 ?
made? '

(A) 1914
(A) 1914 ® 1949
®) 1949 © 195
© 1956 O) 191
D) 1961

-00o0-
-000-
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